

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched for \$8 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Home delivery orders can still be placed after the return date, but there will be a late fee of up to \$17.50 and cannot be guaranteed delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

Please tick the items required in the box provided J \checkmark Item Unit Item Qty Total Description Reqd Reqd Price \$ Amount \$ Office Use No. YEAR NINE **ENGLISH ENG9** *If student is in TLC, please do not purchase from this subject, refer to TLC requirements at the bottom of the list.* 1 x Text to be advised and purchased through Southern River College (approx \$20.00) P19080 29.95 Oxford WA MyEnglish 9 (Print&Digital) 2E [Williams] 1 29.95 1 P51665 Whiteboard Marker Artline Supreme Black 2 1 2.25 2.25 **HUMANITIES HSS9** P11071 Oxford Big Ideas WA Humanities & Soc Sci 9 (Print&Digital) [Saldais] 3 1 69.95 69.95 The above text is optional P55152 Binder Book A4 96 Page 8mm 4 2 1.65 3.30 P50281 Document Envelope A4 PP With Press Stud Clear 5 1 1.25 1.25 **MATHEMATICS MAT9** P51020 Calculator Sharp Scientific EL506TS 6 1 51.75 51.75 to be used for Mathematics and Science or retain from previous year **SCIENCE SCI9** The following resources are necessary for this course. F54297 11.00 Southern River College Stile Subscription Year 9 7 11.00 1 (1 year subscription, provided in class) P50452 8 Binder Book A4 96 Page 8mm Premium with Margin Spirax 4 1.65 6.60 Necessary. **HEALTH EDUCATION HE9** *If student is in TLC, please do not purchase from this subject, refer to TLC requirements at the bottom of the list.* P50452 Binder Book A4 96 Page 8mm Premium with Margin Spirax 1.65 9 1 1.65 P55440 Display Book A4 Refills Pkt 10 10 1 1.25 1.25 P55442 2.15 Display Book A4 20 Pocket Black Refillable 11 1 2.15 PHYSICAL EDUCATION PE9 Phys Ed t-shirt/shorts/tracksuit pants to be purchased from Uniform Shop (COMPULSORY). **NETBALL 9NET** Phys Ed t-shirt/shorts/tracksuit pants to be purchased from Uniform Shop. P50452 Binder Book A4 96 Page 8mm Premium with Margin Spirax 12 1 1.65 1.65 P55440 Display Book A4 Refills Pkt 10 13 1 1.25 1.25 P55442 Display Book A4 20 Pocket Black Refillable 14 2.15 2.15 1 P56704 7.90 Whistle Plastic/Metal with Lanyard 15 7.90 1 SOCCER 9SRC Phys Ed t-shirt/shorts/tracksuit pants to be purchased from Uniform Shop. P50452 Binder Book A4 96 Page 8mm Premium with Margin Spirax 16 1 1.65 1.65 P55440 Display Book A4 Refills Pkt 10 17 1 1.25 1.25 P55442 Display Book A4 20 Pocket Black Refillable 18 1 2.15 2.15 \square P56704 Whistle Plastic/Metal with Lanyard 19 1 7.90 7.90 VOLLEYBALL INSPRE 9VOL Phys Ed T Shirt/shorts/tracksuit pants are required - purchase from Uniform Shop P50452 Binder Book A4 96 Page 8mm Premium with Margin Spirax 20 1 1.65 1.65 P55440 Display Book A4 Refills Pkt 10 21 1.25 1.25 1 P55442 Display Book A4 20 Pocket Black Refillable 22 1 2.15 2.15 P56704 23 7.90 7.90 Whistle Plastic/Metal with Lanyard 1

Please tick the items required in the box provided $\ \downarrow$

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	DRAMA 9DRA					
P55536	Exercise Book A4 48 Page 8mm	24		1	1.20	1.20
P52627	Display Bk A4 20 Pocket With Frame Cover Purple ColourHide	25		1	8.10	8.10
	DIGITAL ART 9DAD					
	Must purchase USB, see Stationery Requirements.					
P58510	Eraser Plastic Pencil Large With Sleeve	26		1	0.40	0.40
P56166	Pencil (HB) Copperplate	27		1	0.55	0.55
P56252 P56414	Pencils-Coloured 12's Colourush Ruler 300mm Plastic Clear	28 29		1	4.50 0.75	4.50 0.75
	MEDIA 9MED		_			
P51614	Exercise Book A4 48 Page 12mm PP Cover w/Margin Spirax #118	30		1	1.55	1.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	31		1	14.05	14.05
	MUSIC FOCUS 9MUS					
	Theory book to be advised.					
P65050	Display Book A4 Fixed 40 Pocket Black	32		1	6.95	6.95
P55918	Music Manuscript Writing Book 12 Stave 32 Page	33		1	7.95	7.95
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	34		1	3.75	3.75
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	35		1	14.05	14.05
	VISUAL ARTS 9VIS					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	36		1	13.40	13.40
P58510	Eraser Plastic Pencil Large With Sleeve	37		1	0.40	0.40
P52001	Pencil (2B) Goldfaber	38		1	0.65	0.65
P56475	Sketch Book A3 20 leaf Perf Board Cover Spirax #533	39		1	5.20	5.20
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	40		1	14.05	14.05
	BABY BASICS 9BBAS					
	No text required. Must purchase USB, see Stationery Requirements.					
	BODY WORKS BEGINS! 9BWB					
	No text required. Must purchase USB, see Stationery Requirements.					
	CHILD'S PLAY & LEARNING 9CPL					
	No text required. Must purchase USB, see Stationery Requirements.					
	CREATIVE GAME DESIGN 9CGD					
	No text required. Must purchase USB, see Stationery Requirements.					
	CREATIVE MINECRAFT CODING 9CMC					
	No text required. Must purchase USB, see Stationery Requirements.					
	CYBER SCIENCE 9CYS					
	No text required. Must purchase USB, see Stationery Requirements.					
	CULTURAL FOOD - ASIAN 9CFA					
	No text required. Must purchase USB, see Stationery Requirements.					
	CULTURAL FOOD - EUROPEAN 9CFE					
	No text required. Must purchase USB, see Stationery Requirements.					

			ed ↓	ovide ⊠	he box pr	ck the items required in t	Please tic	
Total Amount \$	Unit Price \$	Qty Reqd		ltem Reqd	ltem No.		Description	Office Use
							CYBER CHALLENGES 9C	
						se USB, see Stationery Requirements.	No text required. Must purchase	
						Y 9DCAR	DESIGNING CARPENTRY	
						se USB, see Stationery Requirements.	No text required. Must purchase	
						9DOC	CREATING WITH WOOD 9	
						se USB, see Stationery Requirements.	No text required. Must purchase	
							FAST LANE FOOD 9FLF	
						se USB, see Stationery Requirements.	No text required. Must purchase	
							FUTURE FOOD 9FF	
						se USB, see Stationery Requirements.		
						FTEX	FUTURE IN TEXTILES 9F1	
						se USB, see Stationery Requirements.		
						н	MECHATRONICS 9MECH	
						se USB, see Stationery Requirements.		
						_ 9MTLM	CREATING WITH METAL	
						se USB, see Stationery Requirements.		
						лт і	TECHNICAL METAL 9TM1	
						se USB, see Stationery Requirements.		
						N 9HYSR	PHYSICAL RECREATION	
				ORY).	op (COMPULS	t pants to be purchased from Uniform SI		
						EIR	TEXTILES & FIRRES 9TEI	
						se USB, see Stationery Requirements.		
						ΜΑΝ		
61.95	61.95	1			41		Pearson Jinbu 1 SB/EB [Yu Bin]	P04532
						N 9MAND	LANGUAGES MANDARIN	
						nate cost \$30	Text to be advised. Approxima	
						9NLANG	LANGUAGE NOONGAR 9	
							Text to be advised. Approxima	
1.30	1.30	1			42	nm with Margin Spirax #106	Exercise Book A4 64 Page 8mm	P50450
						se USB, see Stationery Requirements. MAN n] N 9MAND nate cost \$30 9NLANG nate cost \$30	LANGUAGE CHINESE 9M. Pearson Jinbu 1 SB/EB [Yu Bin] LANGUAGES MANDARIN Text to be advised. Approxima LANGUAGE NOONGAR 9 Text to be advised. Approxima	

Please tick the items required in the box provided \downarrow

		-		¥		
Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	STATIONERY REQUIREMENTS					
P55152	Binder Book A4 96 Page 8mm	43		12	1.65	19.80
P55393	Correction Fluid Liquid Paper Bond White	44		1	2.65	2.65
P55491	Document Wallet FC Slimpick Brights	45		8	1.05	8.40
P58510	Eraser Plastic Pencil Large With Sleeve	46		1	0.40	0.40
P51353	Glue Stick 40gm Artline Purple	47		1	2.75	2.75
P51157	Highlighters Pkt 4 Micador ECO	48		1	3.50	3.50
P50006	Pencil (HB) Micador Essential	49		4	0.35	1.40
P56095	Pen Ballpoint Cap Type Blue Medium	50		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	51		4	0.35	1.40
P56094	Pen Ballpoint Cap Type Black Medium	52		2	0.35	0.70
P56252	Pencils-Coloured 12's Colourush	53		1	4.50	4.50
P52116	Project Book A4 96 pages 8mm Spirax	54		12	2.00	24.00
P50090	Ruler 300mm Wooden	55		1	1.10	1.10
P56240	Sharpener Pencil Barrel Single Hole (EL)	56		1	1.25	1.25
P56444	Scissors 180mm Sizzle	57		1	5.55	5.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	58		1	14.05	14.05
P50000	Whiteboard Marker Black Pentel Maxiflo	59		1	4.05	4.05
	The above items are to be replaced as necessary during the year.					

Please note that 1 USB for all subject areas should be adequate.

TEACHING AND LEARNING CENTRE

TLC CLASS ONLY

Items with an asterisks next to them cannot be purchased by the parent directly. The cost of all these books needs to be paid to Southern River College
• STAMS Student Workbook*** \$20.00

- STAMS Student Workbook*** \$20.00
 CAMS Student Assessment Book*** \$6.95
 New Wave Mental Maths Book*** \$14.95
 Spelling Mastery Workbook*** \$27.95
 STARS Student Workbook*** \$20.00
 CARS Student Assessment Book*** \$6.95

• CARS	Student	Assessment	BOOK***	\$6.95

P51413	Document Wallet A4 Polywally Assorted Translucent Colours	60	5	3.35	16.75
P58510	Eraser Plastic Pencil Large With Sleeve	61	2	0.40	0.80
P55536	Exercise Book A4 48 Page 8mm	62	8	1.20	9.60
P55654	Glue Stick 40gm UHU Blue	63	4	3.35	13.40
P50194	Highlighter Marker - Green	64	1	1.60	1.60
P50186	Highlighter Marker - Yellow	65	1	1.60	1.60
P55815	Markers Texta Nylorite TX200/12's Asstd/Cols	66	1	3.15	3.15
P56095	Pen Ballpoint Cap Type Blue Medium	67	10	0.35	3.50
P56096	Pen Ballpoint Cap Type Red Medium	68	10	0.35	3.50
P52001	Pencil (2B) Goldfaber	69	10	0.65	6.50
P56216	Pencil Case 375x264mm 2 Zip Tartan Giant	70	1	4.70	4.70
P56252	Pencils-Coloured 12's Colourush	71	1	4.50	4.50
P50090	Ruler 300mm Wooden	72	1	1.10	1.10
P56240	Sharpener Pencil Barrel Single Hole (EL)	73	1	1.25	1.25
P52739	Tissues 2 Ply White Facial Box 100	74	2	2.20	4.40
P51366	Whiteboard Eco Markers Micador Pk 4	75	1	6.50	6.50
	(Single assorted colours accepted)				

		Please tick the items required in the b	ox pr	ovided \downarrow			
Office Use	Description		ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
		Number of Boxes ticked:					
		Postage (Home delivery only)		\$8.00			
		ESTIMATED AMOUNT DUE (PRICES CORRECT AT 17/11/23)		\$	_		